158HO

Z =67

N =91

adopted link

ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 1289.038 ( 0.027) MeV
Qbeta+ = 4.220 ( 0.027) MeV
Energy T J+ J- J-other T1/2
S-alpha= -1.544 ( 0.053)-——————————————————————- -—-
158H0 1 | 0.000 5+ | | 1 11.3 M
158H0 2 | | 0.067 2- | 2 28 M
158H0 3 | 0.075 2+ | | 3 60 NS
158H0 4 | | | 0.092 1-,2-,3- 4 140 NS
158H0 5 | | | 0.103 (6+) 5
158H0 6 | | | 0.126 (2+) 6
158H0 7 | | |  0.137 (2-) 7
158H0 8 | 0.147 1+ | | 8 1.85 NS
158H0 9 | I | 0.157 (5-) 9 29 NS
158H0 10 | | | 0.180 (9+) 10 21.3 M
158H0 11 | | I 0.190 0+,1+,2+ 11
158HO0 12 | | | 0.208 (8-) 12
158H0 13 | | | 0.225 (7+) 13
158HO0 14 | | | 0.228 (6-) 14
158HO0 15 | | | 0.241 0+,1+ 15
158H0 16 | | | 0.255 (3+) 16
158HO0 17 | | | 0.278 (9-) 17
158HO0 18 | | | 0.279 (7+) 18
158H0 19 | | | 0.328 (7-) 19
158HO0 20 | | | 0.359 (8+) 20
158H0 21 | | | 0.368 (8+) 21
158HO0 22 | | | 0.379 (10-) 22
158H0 23 | 0.386 1+ | | 23
158H0 24 | | | 0.395 0,1 24
158H0 25 | | | 0.398 0+,1+,2+ 25
158HO0 26 | | |  0.405 (10+) 26
158H0 27 | 0.433 1+ | | 27
158HO0 28 | | | 0.444 (8-) 28
158HO0 29 | | | 0.454 (9+) 29
158H0 30 | 0.462 1+ | | 30
158HO0 31 | | |  0.494 (11-) 31
158H0 32 | | | 0.531 (9+) 32
158HO0 33 | | | 0.582 (10+) 33
158HO0 34 | | | 0.603 (9-) 34
158H0 35 | | | 0.652 (11+) 35
158H0 36 | | | 0.653 (12-) 36


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=158Ho
https://www.nndc.bnl.gov/ensdf/
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158H0 82 | [ | 3.688 (22+) 82

158H0 83 | I | 3.813 (23-) 83

158H0 84 | I | 4.001 (23+) 84

S=p = 4.052 ( 0.028) === e e e
158H0 85 | I | 4.143 (24-) 85

158H0 86 | I | 4.339 (24+) 86

158H0 87 | I | 4.574 (25-) 87

158H0 88 | I | 4.693 (25+) 88

158H0 89 | I | 4.917 (26-) 89

158HO0 90 | [ | 5.079 (26+) 90

158H0 91 | I | 5.370 (27-) 91

158H0 92 | [ |  5.476 (27+) 92

158H0 93 | I | 5.734 (28-) 93

158H0 94 | I | 5.903 (28+) 94

158H0 95 | [ | 6.219 (29-) 95

158H0 96 | I | 6.342 (294) 96

158H0 97 | I | 6.604 (30-) 97

158H0 98 | [ | 6.792 (30+) 98

158H0 99 | I | 7.132 (31-) 99

158HO0 100 | I | 7.235 (31+) 100

S-n = 7.426 ( 0.036)--- - -— o
158H0 101 | I | 7.535 (32-) 101

158H0 102 | I | 7.685 (324) 102

158H0 103 | I | 8.115 (33-) 103

158H0 104 | I | 8.144 (33+) 104

158H0 105 | [ | 8.525 (34-) 105

158HO0 106 | I | 8.618 (34+) 106

158H0 107 | I | 9.101 (35+) 107

158H0 108 | I | 9.168 (35-) 108

158H0 109 | I | 9.565 (36-) 109

158HO0 110 | I | 9.599 (36+) 110

S=p = 4.052 ( 0.028) —mmmm ===
S-n = 7.426 ( 0.036)--- - - o
S-2p = 10.674 ( 0.027)-============——=———————e Rt
S=2n = 16.792 ( 0.047) —==——= == e
S-alpha= -1.544 ( 0.053)--- - - e
S+p = -5.663 ( 0.027)

S+n = -9.214 ( 0.027)

S+2p = -8.692 ( 0.042)

S+2n = -16.338 ( 0.031)

S+alpha = 2.285 ( 0.038)

gap p = -1.611 ( 0.039)

gap n = -1.788 ( 0.045)



gap 2p = 1.983 ( 0.051)
gap 2n 0.454 ( 0.056)
gap alpha = 0.740 ( 0.065)



